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(Object Oriented Programming)
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* http://www.python-
course.eu/python3 object oriented programming.php
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Class 3

e Class™82| 9| 7}%t 7HEhot HE|

Gass Person: # Class 9|, 0| &
name = “Default Name” # member Bl
def Print(self): # method 9]

print("Hello, my name is”, self.name)

p1 = Person( ) # instance 24N -4
o1.Print() # member H= g SE

>>> "Hello, my name is Default Name”

\_




Instance and method
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class MyClass:
def _init_ (self, value):
selfvalue = value
print('Class is created!, Value =

def _del_(self):

print('Class is deleted!")
d = MyClass(10)

d1=MyClass(20)

o

', self.value)

# Object instantiation syntax

>>> d =

Class 1is
Class 1is
>>> £()

Class 1is
Class is
>>>

MyClass (10)
created!,
deleted!

Value 10

created!, Value 20

deleted!




Class, instance &
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/class Person: 22 \

def _init_ (self name): ﬁylf?gmi Kim _ o
selfname = name >§> Io, my name is Kyungmi Kim

def Hello(self):
print('Hello, my name is', self.name)

def _del__(self):
print(selfname, 'says bye!)

p = Person(“Kyungmi Kim") # Object instantiation syntax
print(p.name) # Attributes invoke
p.Hello() # methods invoke
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class MyClass: \
def __init_ (self, value):

selfvalue = value
print('Class is created!, Value = ', selfvalue)

def _del_(self). " g Instance01 = MyClass(100) )
print(Class is deleted!) Instance02 = Person("Kyungmi kim")
class Person:

.. print(Instance01.value)
def _init_ (self, name):

Instance02.Hello()

selfname = name L | )
def Hello(self): I
int(" o ====== RESTART: D:/1 Works/ 201 Work kM
print('Hello, my name is', self.name) %%SS o created!,f'-.-'alag if 00 ork/¥Mooc
def __del__(self): Hello, my name is Kyunami kim
print(self.name, 'says bye!) B
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/class BankAccount:
def _ini

__init__(self):
self.balance = 0

def withdraw(self, amount):
self.balance -= amount
return self.balance

def deposit(self, amount):
self.balance += amount

return self.balance

a = BankAccount()
b = BankAccount()

print(a.deposit(200))
print(b.deposit(100))

print(a.withdraw(20))

\print(b.withdraW(ZO)) /




Instance and method

ﬂass Employee: 55 5

empCount = 0 Name @ Kim , Salary: 2000

def  init If salary): Name : Choi , Salary: 5000
eseTflr?;nTési nQr?nrQG salary) Name : Park , Salary: 4500
selfsalary = salary Total Employee: 3
Employee.empCount += 1 >>> |

def displayCount(self):
print("Total Employee =", Employee.empCount)

def displayEmployee(self):
print("Name : ", selfname, ", Salary: ", self.salary)

emp1 = Employee("Kim", 2000)
emp2 = Employee("Choi", 5000)
emp3 = Employee("Park”, 4500)

emp1.displayEmployee()

emp2.displayEmployee()
emp3.displayEmployee()

Qrint("Total Employee: ", Employee.empCount) /
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A=K 2 3 E(1)

ﬁss Employee: \
empCount = 0

TotalSalary = 0
MeanSalary = 0

def _init_ (self, name, salary):
selfname = name
selfsalary = salary
Employee.empCount += 1
Employee.TotalSalary += salary

Employee.MeanSalary = Employee.TotalSalary / Employee.empCount

def displayCount(self):
print("Total Employee : ", Employee.empCount)

def displayEmployee(self):
print("Name : ", selfname, ", Salary: ", self.salary)

def displayMeanSalary(self):

print("Mean Salary : ", Employee.MeanSalary)
v continue to... /
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Hde5=48 2 3 E(2)

4 N

emp1 = Employee("Kim", 2000)
emp?2 = Employee("Choi", 5000)
emp3 = Employee("Park", 4500)

emp1.displayEmployee()
emp2.displayEmployee()
emp3.displayEmployee()

print("Total Employee : ", Employee.empCount)

emp3.displayMeanSalary() .

\\¥ Mame © Kim , Salary: 2000

Wame @ Choi , Salary:  h0O00

Wame @ Park , salary:  4h00
Total Emplovee @ 3

Mean salary @0 3833.33333333333350

e |
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